2’157 7"7 '01 X, 70 0°10D .7""02

— TPRa 1ORY 210 K 29007
As it is written; ‘You cannot eat in your gates’

Overview

The X132 explains that the words of 298> X2, of the 922 ¥a Twx Twam 'pos
DOX> X7 Xnb, concerning D°WTP NXMW, is unnecessary since we can derive the
(MmpPn) Mo for eating o°RuY WP from (a WP in) the 5100 of 22N KY
219K%. Our Md0IN explains why this P10 is not considered a M%%52w X (and
therefore there would be no mpon :1’!‘!)3.

mooIn explains, the reason -
— *mYY9aw INY 25N NY IND

This prohibition of 71987 9210 XY is not considered a ‘general 8%, is -
— *@Ya8Y Y991 NY 7973 H192) 7T TYYN 239N XY

Since it is not written in the 7109 that concerning 9923 nN1M152Y 787 Wyn,

etc. you cannot eat them T yw3, but rather the 705 wrote first 699985 9910 89, and

then the details as to what cannot be eaten, such as "1 7137 2wy -
JROIN NYPA 29197 10 YN ING 7 1INOY 19 ¥Y

This proves that the intention of the P05 is to assign specifically an
individual 38> for each item that is written in the 5.

Summary
By not concluding with a pluralistic prohibition of 2%5x%% %510 X, but

beginning instead without a pluralistic prohibition, enables us to ascribe an
individual X% to each of the enumerated items.

Po,1 (0%) X

1,2 (7%7) o2,

? Seemingly the X% of Twwa 919K% 9910 X2 should be considered a m9932w XY, for there is only one XY
(namely "1 2198 2210 &) for many 290K such as MM>2 ,n1127p ,MIwYn, etc. [See Top MR n"» 2"n that this
2108 cannot be compared to what N0 previously said (X771 71"72) concerning 73, for here many 2°MoX are
enumerated, as opposed to 711 where there is only one 710°X enumerated. ]

*If it were considered a N9932w X, there would be no NP arn for violating any of these 1"X%, and then
the 9ax> X7 of "1 7wam would be necessary to teach us a mpon 20 for eating o°%nv 0°w7p and there would
be no 7% of X1 NOK for " NOK Y.

> If the 77N would have written in this manner; 27582 9210 X2 — you cannot eat them, this would indicate
that all the details that are included in the ‘them’, are under the same X%, making this a m>22w > (for
which there is no mpon 21°m). See ‘Thinking it over’ R"wana.

® There is no mention of 09X> 9210 &% which would have grouped all the details together under one x5, but
rather 71987 7210 X% which lends itself to be interpreted as an individual 21987 9210 &% for each of the
forthcoming details; 31 777%™ , 717N , 7137 WA,

"It is considered as if it were written 31 7137 WYN TAWWA MIK? 9N &Y, and MM TPWA P1IRY 23N KD
"3 7R3, etc.
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Thinking it over

The X723 in ®nion explains that %1987 %210 &Y is not a MY%32w WY, for since in
a previous “p109 the 7710 enumerates all the items that are enumerated in this
?109; the 770 could have concluded that 105 with 2958% 9210 X7. Since the
770 repeats all the items again that proves 7m 1 22% "K&% 1% *1°2. Why
does Mmoo here explain it differently from the X3 in nan?!'"

8
R,
? In 1,27 (7R7) D27 it states; 02°N1ATI DDITN DOT NN DRI DNMWYA DRI D3NN DMWY Y aNR
DDIR¥Y OD7P2 NM1D2Y; the same items that are enumerated in the 109 of %210 ®5.
10 See x"wAm and 072K DX 0.
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